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NATIOMAL BASKETEALL ASSOCIATION

| 23, 2017 Ches ke Enargy Arena, leahama OK
ﬂfl'l::baa;AﬂPﬂ Mmtyl'u'l::mrtc?gnﬂ #45 EEE Forte, #538 Josh Elty

OFFICIAL SCORER'S REFORT
FINAL BOX

Game Duration: 2:29
Attendance: 18,203 (Sellout)
VISITOR: Houston Rockets (3-1)

POS MIN FG FGA 3P 3FA FTFTAOR DR TOT A PF ST TO BS +/- FTS
1  Trevor Ariza F 4246 4 8 3 & 3 3 1 4 & 3 3 3 1 0 2 14
3 Ryan Anderson F 1950 2 &6 1 3 4 4 3 0 3 0 21 3 0 -9 9
15 Clint Capela C 1737 2 5 0 o0 0 0 1 4 58 1 2 0 2 0-25 4
13 James Harden G 3918 & 16 O T 8 T 0 7 7 8 3 1 7 0 0 18
2 Patrick Beverley G 2712 2 13 2 8 0 0 O O g0 3 3 6 3 0 0 &
10 Eric Gordon 03 5 13 4 i 4 5 2 6 & 1 3 0 1 218 18
12 Lou Williams M43 5 13 1 5 7 T 2 & 7 2 5 2 1 010 18
42 Nene 2526 12 12 0 0 4 7 4 6 10 1 5 1 1 0 24 28
& Bobby Brown DMP - Coach's Decision
7 Sam Dekker DMD - Fractured Left Hand
5 Montrezl Hamrell DMP - Coach's Decision
14 Troy Williams DMP - Coach's Decision

240:00 37 85 11 35 28 33 13 32 45 19 26 13 19 2 4 113
435% 314% B48% TMREB: 11 TOT TO: 20 (24 PTS)

HOME: OKLAHOMA CITY THUNDER (1-3)

POS MIN FG FGA 3P 3PA FT FTAOR DR TOT A PF ST TO BS +/- FTS
21 Andre Roberson F 3ar32 5 9 1 2 2 12 3 1 4 0 3 2 3 5 1 13
22 Taj Gibson F 2218 2 5 o 0 2 211 2 1 3 1 2 0 1 8
12 Steven Adams C 3854 8 10 0 0 2 &5 4 3 7 2 1 1 2 3 5 18
& Victor Oladipo G 3846 T 10 1 3 0 O 0 4 4 2 4 2 0 2 -1 158
0 Russell Westbrook G 3842 10 28 3 8 12 13 0 14 14 14 2 3 & 1 14 35
8 Jerami Grant 14:22 5§ 5 0 0 0 0 1 2 3 0 3 01 0 -3 10
8 Alex Abrines 28 2 4 1 2 0 0 1 1 2 1 1 0 0 0 -9 5
25 Doug McDermott 19:07 2 B8 1 3 0 0 0 1 1 0 0 1 1 1 A 5
30 Norris Cole 18 0O 3 0 1 0 0 0 1 1 0 2 0 2 118 0
11 Enes Kanter 732 1 5 0 0 0O O 0O 2 2 01 01 149 2
4 Nick Collison DMNP - Coach's Decision
3 Domantas Sabonis DMP - Coach's Decision
15 Kyle Singler DMP - Coach's Decision

240:00 42 85 T 19 18 32 10 30 40 20 20 10 17 14 -4 109
494% 368% 563% TMREB: 14 TOT TO: 17 (A7 PTS)

SCORE BY PERIOD 1 s 3 4 FIMAL
Rockets 22 32 19 40 113
THUNDER 28 32 19 32 109
Inactive: Rockets - Onuaku, Taylor, Wiliier Thunder - Christon, Huestis
Puoints in the Paint: Riockets 48 (24/47), THUMDER 56 (28143 }) Biggest Lead: Rockets 5, THUNDER 14
2nd Chance Points: Rockets 25 (101 'I'I-I.NJER'I?gIH Lead Changes: &
Fast Bresk Foints: Rockets 13 (87), 21 (8M1) Times Tied: 5

Technical Fouls - Individual
PFockets (1) Gordon 8:44 2nd
THUMDER: NOME

Copyright () 2017 NBA Praparties, INC. All Rights Resenved



NATIOMAL BASKETBALL ASSOCIATION

Sund. | 16, 2017 Toyota Center, Houston, TX
QL?H 9 James Capers, #4 Sean Wright, #61 Courtney Kirkland

‘OFFICIAL SCORER'S REPORT
FINAL BOX

Game Duration: 2:18

Attendance: 18,055 (Sellout)

VISITOR: Oklahoma City Thunder (0-1)
POS M

IN FG FGA 3P 3PA FT FTA OR DR TOT A PF ST TO BS +-PTS
21 Andre Roberson F 3469 7 0 4 6 0 0 2 6 8 1 3 2 2 2-24 18
22 Ta) Gibson 201 2 4 0 01 2 0 1 11 2 0006 5
12 Steven Adams c 2753 3 6 0 00 21 4 5§ 1 1 1 1 0-2 &
5 Victor Oladipo G 3223 1 12 0 6 4 4 0 3 3 3 3 1 1 219 @&
0 Russell Westbrook G 3401 6 23 3 11 7 & 2 9 11 7 3 2 9 0-25 22
9 Jerami Grant 209 56 9 0 0 0 1 1 4 5 1 1 0 1 0-26 10
8 Alex Abrines 17 0 2 0 2 0 0 0O 1 1 2 1 0 0 0 -8 O
11 Enes Kanter 620 3 7 0 0 2 2 1 2 3 1 2 0 1 010 8
6 Semaj Christon 136¢ 2 2 1 1 0 0 0 2 2 2 1 1 0 0 6 5
30 Norris Cole 545 0 2 0 1 0 0 0O O0O 0O 1 0 0 012 0
3 Domantas Sabonis 3:38 0 2 0 1 4 4 0 2 2 01100 1 4
25 Doug McDermott 21 10 00DO 0O0O0COTUO0TU 0“1 3
4 Nick Collison DNP coad'l‘sowlslun
240:00 30 81 9 29 18 23 7 34 41 18 19 8 15 431 &7
37.0% 310% 783% TMREB:7  TOTTO:15(13PTS)
HOME: HOUSTON ROCKETS (1-0)
POS _MIN FG FGA 3P 3PA FT FTAOR DR TOT A PF ST TO BS +/-PTS
1 Trevor Ariza F 321 2 4 0 1 0 00 4 4 2 2 1 2 0117 4
3 Ryan Anderson F 373 1 6 0 4 2 2 3 9 12 1 3 0D 0 027 4
15 Clint Capela C 2450 7 9 0 0 0 1 3 4 7 2 1 1 0 227 14
2 Palrick Beveriey G 2659 8 13 4 6 1 2 1 9 10 3 2 2 2 018 21
13 James Harden G 342313 2 3 1 8 11 1 6 7 9 1 3 2 022 37
42 Nene 1847 7 & 0 0 1 1 3 2 5 0 4 0 0 1 3 15
12 Lou Willlams 2548 3 M 0O 3 5§ 7 1 3 4 2 2 0 2 021 1N
10 Eric Gordon 2847 3 8 2 5 0 0 1 1 2 2 2 1 2 021 8
5  Montrezl Hamell 414 0 0 0 0 1 2 0 2 2 0 2 0 0 0 1 1
8 Bobby Brown 33 1 31 20 001 1000001 3
14 Troy Williams %338 0 10 1 0 01 1 2 00 0 101 0
7 Sam Dekker DND - Fractured left hand
240:00 45 91 10 33 18 26 14 42 5 21 19 B8 11 3 31 118
485% 303% 692% TMREB:6  TOTTO:11(14 PTS)
SCORE BY PERIOD 1 2 3 4  FINAL
Thunder 29 S 20 13 87
ROCKETS 27 3 29 118
Inactive: Thunder - Huestis, - Onusku, Teylor,

Points in the Paint: TII.IMBYBS
Zrni Charn: Points; é’%?ﬂcmﬂ 31 (12531)
F’blTIsThLllﬂE’ﬂ!

CopyTIgNt () 2077 NEA FroparizE, INC. All Rights Reeene

NATIONAL BASKETBALL ASSOCIATION OFFICIAL SCORERFSIE.AELP%;
? I 19, 2017 T Center, Houston, TX
Ol'ﬂl:ials 14 Ed Malloy, #38 Michael Smith, #41 Ken Mauer
Game Duration: 2:33
Attendance: 18,055 (Sellout)
VISITOR: Cklahoma City Thunder (0-2)
POS __MIN FG FGA 3P 3PA FT FTAOR DR TOT A PF ST TO BS +-PTS
21 Andre Roberson F 32 66 12 0 3 0 0 7 1 8 0 1 2 0 3 -2 12
22 Taj Gibson F 2047 3 6 0 0 2 2 1 4 5 0 3 0 0 017 &
12 Steven Adams c2r25 2 3 0 01 2 3 4 7 1 6 1 0 218 5
5 Victor Oladipo G 42 4 14 1 7 2 21 8 9 3 3 1 2 00 11
0 Russell Westbrook G 4122 17 43 2 1115 18 2 8 1M 13 3 4 4 1 11 5
& Alex Abrines 425 0 1 0 1 0 0 0 0O O 0 O O 0 0 -4 0O
3 Domantas Sabonis 222 0 1 0 0 O O OO O O 3 0 0 15 0
9 Jerami Grant 2612 2 4 1 2 4 4 2 3 5 0 1 1 1 220 9
6 Semaj Christon 638 0 3 0 2 0 0 0 1 13 0 0 0 015 0
11 Enes Kanter 73 2 4 0 0 0 0 1 O 10 2 0 0 3 -8 4
25 Doug McDermott 1359 4 5 3 4 0 0 0 1 i 0 00007 1
15 Kyle Singler 0:26 1 o0 00 1 10 2 0 0 04 0
4 Nick Collison DNP Goaeh’sD&clslnn
24000 40 97 7 30 24 28 17 31 48 20 24 9 7 12 4 111
412% 233% 857% TMREB:9 TOT TO: 7 (11 PTS)

HOME: HOUSTON ROCKETS (,Z-D)

MINFGFGASPSPAFI’FI’AORDRTOT A PF ST TO BS +-PTS
1 Trevor Ariza F 4020 2 0 1 0 00 4 41 21 1 16 4
3 Ryan Anderson F 2855 1 3 0o 7 2 2 0 3 3 0 3 0 0 118 4
15 Clint Capela C 2300 3 8 0 0 1 3 37 01 2 0 0 4 4 7
2 Patrick Beveriey G 333% 6 9 2 4 1 2 1 5 6 4 5 1 2 0 15
13 James Harden G 3727 7 17 3 718 20 0 4 4 8 6 1 7 0 2 3
10 Eric Gordon 30323 B 14 3 6 3 4 0 4 4 2 2 0 2 115 22
42 Nene 2500 3 3 o 01 4 065 & 2 21 1 1 8 7
12 Lou Williams 2118 8 3 4 2 2 10 1 2 01 0 018 21
& Bobby Brown DNP - Ooadl’soulalun
7 Sam Dekker DND - Fractured Left Hand
5 Montrezl Harrell DNP - Coach's Decision
14 Troy Williams DNP - Coach's Decision
24000 38 78 11 20 28 37 5 32 37 2021 513 8 4 115

487% 370% T757% TMREB: 16

TOT TO: 13 (20 PTS)

SCORE BY PERIOD 1 2 3 4 FINAL
Thunder B/ 33 o 2 1
26 38 24 29 15

inactve: Thunder - Cole, Huestis Rockels - Onusku, Taylor, Wikier
Points in the Paint Thunder . ROCKETS 48
ZMCIIIHMFMMS TPIderZDﬂ’N‘I . ROCKETS 8

Fast Bresk Points: Thunder 16 (4/7), ROCKETS 7 (2/4) Times Tied:

Copynignt () 2017 NEA Frapanies, INC. All Righ's Resened
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